How to Do Stuff on the TI-83/84:
1.  Calculate summary statistics:  Enter data in L1, press Stat:Calc:1VarStats L1


Here is the output for the data 1, 1, 2, 3, 4, 7, 12
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= the mean (average)



n = sample size
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= the sum





minX = the minimum value
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= sum of squared values


Q1 = the first quartile (25th percentile)


Sx = sample standard deviation (the one we use)
Med = the median
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s

 = population SD (only use if we have census)
Q3 = the third quartile (75th percentile)









maxX = the maximum value

2.  Graph data:  Enter data in L1: press 2nd:Y= (statplot), turn plot on, choose appropriate graph and lists.
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To see the graph, press Zoom:9ZoomStat:
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3.  Check for normality:  Enter data in L1: press 2nd:Y= (statplot) and choose the 6th graph option
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ZoomStat: 
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Not very linear( not normal

4.  Calculating a regression line:  Enter the data in L1 and L2: press Stat:Calc:8 LinReg a + bx L1,L2

Here is output using the same values in L1 and L2 = 1,2,3,4,5,6,7:
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Note: to get r2 and r, press: 2nd 0 (catalog): diagnostic on: enter:enter






This should only need to be done once.
5.  Graphing a LSRL on a scatterplot:  Enter the equation in Y= menu, then choose scatterplot in the statplot menu and press ZoomStat:


[image: image12.emf]

[image: image13.emf]

6.  Making a residual plot:  Once a regression line has been calculated, the residuals are stored in a list called RESID.  To find this list, press 2nd:Stat (List) and then scroll down.  Then make a scatterplot of L1 vs. RESID:
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Obvious pattern(linear model NOT ok
7.  Commands in Dist menu/Catalog Help:  Any TI-83+ or above can have the Catalog Help Application which tells you what to enter if you press + in the Dist menu.  For example, to see what to enter with Normalcdf, press 2nd:Vars (Dist), scroll to Normalcdf and press “+”
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Summary of things we use in the Dist Menu:


Normalcdf(lower, upper, mean, SD): to find the probability of being between the lower and upper 



Note: if you do not enter mean and SD, the calculator assumes you are entering z-scores


InvNorm(area to left, mean, SD): to find the boundary for a given area to the left



Note: if you do not enter mean and SD, the calculator assumes you are entering z-scores


Tcdf(lower, upper, df): to find the probability of being between the lower and upper t values

InvT(area to left, df): to find the boundary on a t-distribution for a given area to left


X2cdf(lower, upper, df): to find the probability of being between the lower and upper 
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 values


Binompdf(n,p,k): to find the binomial probability of k successes with n trials and p prob. of success


Binomcdf(n,p,k): to find the cumulative binomial probability of 
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k successes with n trials and p prob. 


of success

Geometpdf(p,k): to find the geometric probability of first success on trial k with p prob. of success


Geometcdf(p,k): to find the cumulative geometric probability of first success on trial 
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k with p prob. of 



success

8.  Stat Test Menu:


1.  z-test: NOT USED (for a mean when 
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is known)


2.  t-test:  testing a mean from one sample or a matched pairs test


3.  2-sampZtest: NOT USED (for means when 
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is known)


4.  2-sampTtest: testing a difference of means from 2 samples



Note: always say “no” to pooling for this test


5.  1-propZtest: testing a proportion from 1 sample



Note: x = number of success (must be an integer)


6.  2-propZtest: testing for a difference of proportions from 2 samples



Note: x = number of success (must be an integer)



Note: the calculator automatically pools for this test


7-B:  The confidence intervals for the 6 tests above


C:  X2-test: tests of independence and homogeneity (not goodness of fit)



Note: observed counts must be entered into matrix A and expected will be placed in matrix B


D: X2 GOF test (NOT ON ALL CALCULATORS):  goodness of fit test


Note: observed counts must be in L1, expected counts in L2


E: 2-sampFtest: NOT USED (for comparing variances of two samples)


F: LinRegTTest: for testing if a slope is different than 0


G: LinRegTInt (NOT ON ALL CALCULATORS): confidence interval for slope


H: ANOVA: NOT USED (for comparing 3 or more means)
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